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Richter_D_PO2_009A
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xr dYn log Y
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Sn=dYCIELAB/dYJND=10.7

−1.0 0.016 0.25
−0.5 0.035 0.75
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xr=log[Y/Y18]
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A2/A1 = 0.1716
A1 = 0.0197 A2 = 0.0033
A3 = 0.922 A4 = 1.811
Richter_D_PO4_027S
(x,y,Y)u=(0,33, 0,36, 18)

  0,0

  0,5

  1,0

  1,5

  2,0

dY=A1[1+A2/A1Y]

xr dYn log Y
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Sn=dYCIELAB/dYJND=10.2
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xr=log[Y/Y18]
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A2/A1 = 0.0852
A1 = 0.0256 A2 = 0.0021
A3 = 0.414 A4 = 0.734

A5 = 0.2799 Richter_D_PO5_258A
(x,y,Y)u=(0,33, 0,36, 18)
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dY=A1[1+A2/A1Y]

xr dYn log Y
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0.5 1.75
1.0 2.25

Sn=dYCIELAB/dYJND=12.6

−1.0 0.014 0.25
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0.5 0.14 1.75
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